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1. Given below is the data showing the number of children in a family in a
locality of 15 families.
Prepare the frequency table for the data 1, 3,5,4,3,2,1,1,3,2,2,1,4, 2,

and 1.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_lxwdjvGaRHqW

2. Represent the following frequency distribution as a bar graph :

Valueof Variable(x) 1 3 4 6 7
2 5 1

Frequency (F) 4 3

° Watch Video Solution

3. Two different models of TV sets are produced in a factory and are given

below as a double bar graph. Read the data and answer the following

questions :
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(A) What information does the graph represent ?

(b) In which month, both the models of TV sets produced are equal ?

(c) In which month, both the model of TV sets produced are maximum ?


https://dl.doubtnut.com/l/_kLlZoh1od1Fd
https://dl.doubtnut.com/l/_USqhw6gG4jvx

(d) In which month, both the models of TV sets produced are minimum

and how many are they ?

o Watch Video Solution

4. A person spends his time every day as shown below :

Activity Study Games Yoga and Sleeping Misce
Dance
Number of hours 9 3 3 7

Present the data in pie chart.

° Watch Video Solution

5.Draw a line graph to represent the runs made by different batsmen in a

match whose details are given in the following table :

Player P1 Pz P3 P4 P5 P6 P7
Runs made 30 45 55 20 40 35 50

° Watch Video Solution



https://dl.doubtnut.com/l/_USqhw6gG4jvx
https://dl.doubtnut.com/l/_N5AxIv5UHaTZ
https://dl.doubtnut.com/l/_PkXhFWuI6xOs

6.The line graph given below shows the production of a particular model
of bike [roduced in different months. Read the line graph and answer the
following questions :

(@) In which month is the production maximum ?

(b) In which month is the production least ?

(c) In which two successive months has the production increased ?

(d) In which two successive months has the production decreased ?
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o Watch Video Solution

7.Find the mean of the first 10 prime numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_FInie0Hnv9Pf
https://dl.doubtnut.com/l/_6Ytn0ng9DnoB

8. If the mean of the data 9, 17, 18, 14, x, 16, 15, 11 and 12 is x, then find the

value of x.

o Watch Video Solution

9. There are 7 observations in the data and their mean is 11. If each

observation is multiplied by 2, then find the new mean.

o Watch Video Solution

10. The marks (maximum marks 100) obtained by 20 students in a test are

given below :


https://dl.doubtnut.com/l/_6Ytn0ng9DnoB
https://dl.doubtnut.com/l/_ZReTzsSRGTKi
https://dl.doubtnut.com/l/_hvXGLRjINvAM
https://dl.doubtnut.com/l/_QWur7RHJGsZP
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N=20

Find the mean marks of the 20 students.

A. 64

B.64.5

C.54

D.54.5

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_QWur7RHJGsZP

11. Find the median of the following observation 12, 18, 11, 21, 32, 16, and

22.

° Watch Video Solution

12. Find the median of the data 21, 33, 15, 19, 26, 32, 14 and 24.

° Watch Video Solution

13. the median of 11 observations is 10. Find the maximum numbe of

possible observations in the data which are less than 10.

° Watch Video Solution

14. Find the mode of the observations 8, 2, 3, 4,6, 3, 2,4, 5,4, 1,1, 4, 6, and

8.

A.2


https://dl.doubtnut.com/l/_bhTitD6iwKWp
https://dl.doubtnut.com/l/_JF7a5hhZYtT5
https://dl.doubtnut.com/l/_Z1vKX3vtFOak
https://dl.doubtnut.com/l/_ohUDvRg3o6UF

B.3

C.4

D.8

Answer: C

° Watch Video Solution

15. The mode of the unimodal data 7, 8, 9, 8, 9, 10, 9, 10, 11, 10, 11, 12 and x is

10. Find the value of x.

° Watch Video Solution

16. There are 10 marbles in a box which are marked with the distinct

numbers from 1to 10. If a marble is drawn, then what is the probability of

getting prime numbered marble ?

° Watch Video Solution



https://dl.doubtnut.com/l/_ohUDvRg3o6UF
https://dl.doubtnut.com/l/_wMMfmqC0k8Q4
https://dl.doubtnut.com/l/_wxRRnUtxNg74

17. There are 10 marbles in a box which are marked with the distinct
numbers from 1 to 10. If a marble is drawn, then what is the probability of

getting a marble being a number multiple of 3 ?

° Watch Video Solution

18. Given below is the data showing the number of children in a family in
a locality of 15 families.
Prepare the frequency table for the data 1, 3,5, 4,3,2,1,1,3,2,2,1,4, 2,

and 1.

° Watch Video Solution

19. Represent the following frequency distribution as a bar graph:

Vilue of Yarsable (x) 1 i 4 fs
Frequency (1) 1 } 2 5 [

° Watch Video Solution



https://dl.doubtnut.com/l/_C1CrrtRMjjFH
https://dl.doubtnut.com/l/_poEgyJNR2yLd
https://dl.doubtnut.com/l/_kqhkwpBbbQhQ

20. Two different models of TV sets are produced in a factory and are
given below as a double bar graph. Read the data and answer the

following questions:
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What information does the graph represent?

° Watch Video Solution

21. Two different models of TV sets are produced in a factory and are
given below as a double bar graph. Read the data and answer the

following questions:


https://dl.doubtnut.com/l/_27pOQxnjrm5D
https://dl.doubtnut.com/l/_IhofT0pUk2JF
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In which month, both the models of TV sets produced are equal?

o Watch Video Solution

22. Two different models of TV sets are produced in a factory and are

given below as a double bar graph. Read the data and answer the

following questions:


https://dl.doubtnut.com/l/_IhofT0pUk2JF
https://dl.doubtnut.com/l/_O1LvVWbsUrZT
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In which month, both the models of TV secs produced are maximum?

° Watch Video Solution

23. Two different models of TV sets are produced in a factory and are

given below as a double bar graph. Read the data and answer the

following questions:


https://dl.doubtnut.com/l/_O1LvVWbsUrZT
https://dl.doubtnut.com/l/_xQUs9pz5HRPT
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In which month, both the models of TV sets produced are minimum and

how many are they?

° Watch Video Solution

24.Draw a line graph to represent the runs made by different batsmen in

a match whose details are given in the following table:

Plaves I . P’ P P, P

Foins masde i3 245 i 40 1 i

M

° Watch Video Solution



https://dl.doubtnut.com/l/_xQUs9pz5HRPT
https://dl.doubtnut.com/l/_2G0DsqlMzkQp

25. The line graph given below shows the production of a particular
model of bike produced in different months. Read the line graph and

answer the following questions:

In which month is the production maximum?
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o Watch Video Solution

26. The line graph given below shows the production of a particular
model of bike produced in different months. Read the line graph and

answer the following questions:


https://dl.doubtnut.com/l/_FBHcFEdl933d
https://dl.doubtnut.com/l/_McSuIP4TzXtp

In which month is the production least?
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o Watch Video Solution

27. The line graph given below shows the production of a particular
model of bike produced in different months. Read the line graph and

answer the following questions:


https://dl.doubtnut.com/l/_McSuIP4TzXtp
https://dl.doubtnut.com/l/_vaMQuukb7tPn

In which two successive months has the production increased?
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° Watch Video Solution

28. The line graph given below shows the production of a particular

model of bike produced in different months. Read the line graph and

answer the following questions:

In which two successive months has the production decreased?
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https://dl.doubtnut.com/l/_vaMQuukb7tPn
https://dl.doubtnut.com/l/_RVg7bMDKtRZw

° Watch Video Solution

29. Find the mean of the first 10 whole numbers.

° Watch Video Solution

30. If the mean of the data 9, 17, 18, 14, x, 16, 15, 11 and 12 is x, then find the

value of x.

° Watch Video Solution

31. Mean of 9 observations in the data is 14. If each observation is

multiplied by 4. then find the new meanis ____

° Watch Video Solution



https://dl.doubtnut.com/l/_RVg7bMDKtRZw
https://dl.doubtnut.com/l/_TR4FVxglOFjd
https://dl.doubtnut.com/l/_aW2NNK5X5qOI
https://dl.doubtnut.com/l/_2D6pEU4iNgc6

32. The marks (maximum marks 100) obtained by 20 students in a test are

given below :

95

Find the mean marks of the 20 students.

° Watch Video Solution

33. Find the median of the following observation 12, 18, 11, 21, 32, 16, and

22.

° Watch Video Solution



https://dl.doubtnut.com/l/_33KoxF2MbnO9
https://dl.doubtnut.com/l/_2s1SPvgzQABC

34.Find the median of the data 56, 67, 54, 34, 78, 43, 23.

° Watch Video Solution

35. the median of 11 observations is 10. Find the maximum numbe of

possible observations in the data which are less than 10.

° Watch Video Solution

36. Find the mode of the observations 12, 8,4, 8,1, 8,9, 11,9, 10, 12, 8.

° Watch Video Solution

37.The mode of the unimodal data 7, 8, 9, 8, 9, 10, 9, 10, 11, 10, 11,12 and x is

10. Find the value of x.

° Watch Video Solution



https://dl.doubtnut.com/l/_k7tu4UsHKW5f
https://dl.doubtnut.com/l/_0MbLrEzZ1hcr
https://dl.doubtnut.com/l/_Ke1q5qMkRpjg
https://dl.doubtnut.com/l/_S6NDFGOnsrmU
https://dl.doubtnut.com/l/_K8vTcVoQtJKE

38. There are 10 marbles in a box which are marked with the distinct
numbers from 1 to 10. If a marble is drawn, then what is the probability of

getting a perfect squared marble?

° Watch Video Solution

39. There are 10 marbles in a box which are marked with the distinct
numbers from 1 to 10. If a marble is drawn, then what is the probability of

getting a marble being a odd number less than 8?

° Watch Video Solution

Very Short Answer Type

1.If the range of a data is 9 and its highest value is 81, then its least value

is

A 71


https://dl.doubtnut.com/l/_K8vTcVoQtJKE
https://dl.doubtnut.com/l/_edNaSS0nDHfO
https://dl.doubtnut.com/l/_LgHP3G6BI44R

B.72

C.73

D.74

Answer: B

o Watch Video Solution

2. The mean of the observation 7, 8,9, 11 and 15 is 10.

o Watch Video Solution

3. The median of the data 13, 12, 10, 8, 4, 6, and 15 is 10.

o Watch Video Solution

4.the mode of the data 8,4, 5,3,6,7,7,8,4,6,8,9 and 9is 7.

| o A _L vl . o ~_ ..


https://dl.doubtnut.com/l/_LgHP3G6BI44R
https://dl.doubtnut.com/l/_ZfR1tPz5PXMY
https://dl.doubtnut.com/l/_XYCTOQeT8E91
https://dl.doubtnut.com/l/_n1PdlD8EvUXv
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5.For an unbiased coin, the probability of getting tail is 1/2.

° Watch Video Solution

6. The mean of 20,40, 35,42,and 45is

A 24

B.36

C.364

D. 464

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_n1PdlD8EvUXv
https://dl.doubtnut.com/l/_vKaCXwNQLpbm
https://dl.doubtnut.com/l/_dFKDiwvyGqMP

7.1n a pie chart, the central angle for a component value of 240, when the

total value is 720,is __

° Watch Video Solution

8.In a bar graph, the height of a bar is 5.2 cm. If 1 cm=80 units, then the

value represented by the bar is units.

° Watch Video Solution

9.the range of the data 13, 18, 20, 15, 12, 17,9, 14, 11, and 16 is

° Watch Video Solution

10. If the sum of 10 observations is 95, then their mean is

° Watch Video Solution



https://dl.doubtnut.com/l/_0KXsLy789IQi
https://dl.doubtnut.com/l/_1XqeKCuYX8c3
https://dl.doubtnut.com/l/_vXvVPmvWUlGi
https://dl.doubtnut.com/l/_neIErJkuNr0J
https://dl.doubtnut.com/l/_0496hNGXEAyH

1. In a pictograph, if 1 picture = 80 cars, then 240 cars is equal to

pictures.

° Watch Video Solution

12. the median of the data 13, 12, 14, 13, 15, 16, 18, is

A 12

B.13

D.15

Answer: C

o Watch Video Solution

13. If a dice is rooled, then the probability of getting a prime number is


https://dl.doubtnut.com/l/_0496hNGXEAyH
https://dl.doubtnut.com/l/_4SD2CNYa0q2b
https://dl.doubtnut.com/l/_pqgWmqb0JEWn

° Watch Video Solution

14. When an unbiased coin is tossed, the probability of getting a head is

° Watch Video Solution

15. The maximum value of the probability of an event is

° Watch Video Solution

16. The measures of central tendency are

° Watch Video Solution

17. The middle value of a data, when it is arranged in ascending or

descending, is called



https://dl.doubtnut.com/l/_pqgWmqb0JEWn
https://dl.doubtnut.com/l/_SHjTVO6dAffD
https://dl.doubtnut.com/l/_hfsbv7LjbIAs
https://dl.doubtnut.com/l/_xUg6HTJTarT5
https://dl.doubtnut.com/l/_mgHTzabYnlhi

| ° Watch Video Solution

18. If a dics is thrown, then the probability of getting an even number is

° Watch Video Solution

19. The mode of a data is

° Watch Video Solution

20. The central angle of a component in a pie chart is

° Watch Video Solution

21. The graphs drawn generally for representing a data are

° Watch Video Solution



https://dl.doubtnut.com/l/_mgHTzabYnlhi
https://dl.doubtnut.com/l/_RwdNxDb8O634
https://dl.doubtnut.com/l/_OlFfS43hSm20
https://dl.doubtnut.com/l/_SGR3g28ZsM1e
https://dl.doubtnut.com/l/_pqO8d8lvK30X

22.When a dice is thrown, the outcomes are .

° Watch Video Solution
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23.

In which year is the difference between the sales of the scooters and the

sales of cars the least ?

A. 2005
B. 2006

C. 2007


https://dl.doubtnut.com/l/_pqO8d8lvK30X
https://dl.doubtnut.com/l/_lWxJEcrWw3Bs
https://dl.doubtnut.com/l/_ZlfSHzmMLyzo

D. 2008

Answer: B

o Watch Video Solution

Scale: On Y-axis, 1 cm = 1000 units -
Ly 10

2006 2007
| wScooters © Cars }

2005

24,

Total number of vehicles (scooters and cars) sold in the year 2005 and

2006 is

A. 26100
B. 28500

C. 25100


https://dl.doubtnut.com/l/_ZlfSHzmMLyzo
https://dl.doubtnut.com/l/_DLNgkegmClxi

D. 27500

Answer: A

° Watch Video Solution
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25.

Find the maximum difference between sales of scooters and that of cars,

in ant year, in the given period.

A. 1500
B. 1700

C. 1800


https://dl.doubtnut.com/l/_DLNgkegmClxi
https://dl.doubtnut.com/l/_yyzwnalVVOty

D. 2000

Answer: C

o Watch Video Solution
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26.

Find the total number of scooters sold in the four years.

A. 26000

B. 27000

C. 31000

D. 32000


https://dl.doubtnut.com/l/_yyzwnalVVOty
https://dl.doubtnut.com/l/_YKjhUCzxeKpg

Answer: D

o Watch Video Solution

Yo Scale: On Y-axis, 1 cm = 1000 units -
‘ ‘ 10

2006 2007 2008

f uScooters  wCars 3

27.

Find the ratio between the total number of vehicles sold (scooters and

cars) in the year 2006 and that in the year 2008.

A.41:46

B.69:91

C.147:182

D.46:49


https://dl.doubtnut.com/l/_YKjhUCzxeKpg
https://dl.doubtnut.com/l/_oktrJqcXmqWH

Answer: B

° Watch Video Solution

28. There are 10 cards numbered from 1to 10 in a box. If a card is drawn

randomly, then find the probability of getting an even numbered card.

N = o o= 5|,_.

Answer: D

° Watch Video Solution

29. The mode of the data 48, 45, 49, 51, 46, 48, 47, 49, 48, and 51 is


https://dl.doubtnut.com/l/_oktrJqcXmqWH
https://dl.doubtnut.com/l/_WW3KhEtTLx0E
https://dl.doubtnut.com/l/_bdL7BOtyiavL

A 47

B. 49

C. 51

D. 48

Answer: D

o Watch Video Solution

30. When a dice is rooled, find the probability of getting an even prime

number.

oot N~k W Rk o=

Answer: A



https://dl.doubtnut.com/l/_bdL7BOtyiavL
https://dl.doubtnut.com/l/_MBsHtMr7264t

| ° Watch Video Solution

31. The range of 12 observations is 60. If the least observation is 90, then

find the greatest observation.

A.130

B. 140

C.150

D. 160

Answer: C

° Watch Video Solution

32.Find the median of the data 35, 28, 49, 56, 79, 81, 73 and 80.

A. 64.5

B. 65


https://dl.doubtnut.com/l/_MBsHtMr7264t
https://dl.doubtnut.com/l/_lErQH9VJUILG
https://dl.doubtnut.com/l/_gvyhCh3ckwxW

C.65.5

D. 66

Answer: A

° Watch Video Solution

33. There are 20 marbles in a box which are marked with distinct numbers
from 1 to 20. If a marble is drawn, then find the probability that the
marble being numbered as a multiple of 5.

A.3/5

B.2/5

c.1/5

D.4/5

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_gvyhCh3ckwxW
https://dl.doubtnut.com/l/_A7niDEWM7mFL

34.The mode of the data 35, 25, 26, 33, 31, x, and 30 is 26, then x is

A. 25

B. 26

C.31

D.33

Answer: B

° Watch Video Solution

35.The median of the data 18, 42, 31, 25, 26,38 and 43 is

A. 31

B. 26

C. 25

D.18


https://dl.doubtnut.com/l/_A7niDEWM7mFL
https://dl.doubtnut.com/l/_JHAA4ueExTyb
https://dl.doubtnut.com/l/_0xKknwcsBV4k

Answer: A

° Watch Video Solution

36. The sum of 20 observation is 500, then the mean is

A 15

B. 20

C. 25

D.30

Answer: C

° Watch Video Solution

37.There are 100 cards numbered from 1to 100 in a box. If a card is drawn
from the box and the probability of an event is 1/2, then the number of

favourable cases to the event is


https://dl.doubtnut.com/l/_0xKknwcsBV4k
https://dl.doubtnut.com/l/_Dw8YnWm4L8JL
https://dl.doubtnut.com/l/_pOsL0b4YBJVe

A .20

B. 25

C.40

D. 50

Answer: D

o Watch Video Solution

Short Answer Type

1. Find the mean of 4,6, 7,9 and 4.

° Watch Video Solution

2.Find the median of the data 9, 12, 11, 10, 8, 9, 11.

A.9


https://dl.doubtnut.com/l/_pOsL0b4YBJVe
https://dl.doubtnut.com/l/_Dl1d0KDrjVWc
https://dl.doubtnut.com/l/_eKU9kARZ2Pjl

B.10

D.12

Answer: B

° Watch Video Solution

3.Find the mode of the data 7, 8,9, 9, 10, 7, 11, 10, 7, 6.

° Watch Video Solution

4. Find the range of the data : 14, 15, 16, 18, 19, 25, 30, 41, 26, 16, 13, 18, 20

and 26.

A.16

B.10


https://dl.doubtnut.com/l/_eKU9kARZ2Pjl
https://dl.doubtnut.com/l/_X27cWDERACK2
https://dl.doubtnut.com/l/_gy1H1YAAlEn6

D. 28

Answer: D

° Watch Video Solution

5. When a coin is flipped once, what is the probability of getting HEAD ?

° Watch Video Solution

6. What is a pie chart ?

° Watch Video Solution

7.The marks obtained by 15 students in an examination are given below :
40, 20, 24, 19,20, 35, 12, 48, 29, 40, 45, 48, 42, 23, 35. Find the average mark

of the students.

° Watch Video Solution



https://dl.doubtnut.com/l/_gy1H1YAAlEn6
https://dl.doubtnut.com/l/_fwldFQCTBLmP
https://dl.doubtnut.com/l/_wAKQxIaS7wU9
https://dl.doubtnut.com/l/_c4wf6I63vGIi

8. The heights of 7 students are given below (in cm) : 120, 126, 132.41,

121.52,120.35, 132, 125. Find the median height of the students.

° Watch Video Solution

9. The mode of the data 20, 23, 22, 23, 22, 20, x, 21 is 22. Find the value of x.

° Watch Video Solution

10. The arithmetic mean of 10 observations is 45. If one of the
obsservations, 54, is deleted, then find the mean of the remaining

observations.

° Watch Video Solution

1. If the mean of 4, x,and y is 6, then find the mean of x, y, and 10.

| e |


https://dl.doubtnut.com/l/_c4wf6I63vGIi
https://dl.doubtnut.com/l/_4aFAwr1LRvDz
https://dl.doubtnut.com/l/_moTSbz1Ukc4j
https://dl.doubtnut.com/l/_UqHXvZzQpGnZ
https://dl.doubtnut.com/l/_yQz83KZ8JlcT

I & Watch Video Solution ]

12. A bar graph is drawn to the scale 1em = 4 X z units .The length of

the bar representing a quantity 1000 units is 1.25c¢m . Find

° Watch Video Solution

13. In a pie chart, a component is represented as a sector with sector

angle 108°, then find the percentage of the value the component totally.

° Watch Video Solution

14. If the mean of 2,3, x,7 ,8 is x, then find the value of x..

° Watch Video Solution

15. Anand's income and expenditure are in the ratio 9 : 5. Find the central

angle of the sector, which represents Anand's savings.


https://dl.doubtnut.com/l/_yQz83KZ8JlcT
https://dl.doubtnut.com/l/_92Y2817XJ3Ah
https://dl.doubtnut.com/l/_3ZV3350pDGQK
https://dl.doubtnut.com/l/_tMSpTsIk8b5H
https://dl.doubtnut.com/l/_FhcgCL0ff46H

° Watch Video Solution

16.In a bar graph, a bar of length 8.6 cm is represented by 430 units. Find

the length of another bar, which is represented by 340 units.

° Watch Video Solution

17. Find the mode of the data 2, 4,6, 4,6, 7,6,7 and 8.

° Watch Video Solution

18. The mean height of a group of 30 students is 150 cm. If a 150 cm tall

student is included in the group, then find the mean heigh of the new

group.

° Watch Video Solution



https://dl.doubtnut.com/l/_FhcgCL0ff46H
https://dl.doubtnut.com/l/_iMKUkX3ueBRk
https://dl.doubtnut.com/l/_7PpCcAoUHWri
https://dl.doubtnut.com/l/_asnuMX2npjXg

19. The mean of observations 2, 3, 4, 5, 8, 14, and x is x. Find x.

A 6

B.7

C.8

D.9

Answer: A

o Watch Video Solution

20. In a box, there are 20 marbles. Each marble is marked with a distinct
number from 1 to 20. Find the probability of drawing a marble from the

box which is marked with a number that is a perfect square.

o Watch Video Solution

21.Find the mean of the data 7, 8, 10, 13, 17, 23, 30, 38,47, and 57.


https://dl.doubtnut.com/l/_fTrZfkpelBA6
https://dl.doubtnut.com/l/_8TxlxUNmocqz
https://dl.doubtnut.com/l/_DUk9swPVF6w3

° Watch Video Solution

1. Find the central angles of the components of a data given below, when

represented in a pie chart ?

Component Food Education Rent Clothing S
Expenses (in Rs.) 3600 2400 2100 1200

° Watch Video Solution

2. For the information given in the above question, find the heights of the
bars, when the data represente in a bar graph : Scale of the graph : 1cm =

Rs. 500.

° View Text Solution



https://dl.doubtnut.com/l/_DUk9swPVF6w3
https://dl.doubtnut.com/l/_6iVp7x0eZUt9
https://dl.doubtnut.com/l/_ByC8LLIJcn1K

3. The percentage of marks obtained by a student in various exams is

given below. Represent the data by a line graph.

Nameof UT-1 UT-1 Quartely UT-3 Halfyearly UT-4 Annual
the exam

Percentage 50 85 60 80 68 75 70
of marks

o Watch Video Solution

4. The following table shows the favourite games of 240 students of a

school. Draw a pie chart for the following data.

Game Football Badminton Criket Volleyball Hockey
Number of 35 30 80 40 55
students

o Watch Video Solution

5. The following table gives the average temperatures, during the year

2006 and 2007. Draw a double bar graph for the given data.


https://dl.doubtnut.com/l/_eXO3y8lzmb8S
https://dl.doubtnut.com/l/_503984M5vqge
https://dl.doubtnut.com/l/_Fg4KSPADFwES

Manth Jan Feb Mar Apr Moy Jun July Aug Sep Oct Nov Dec

Temp 20 32 36 38 42 35 32 30 28 25 20 15
(in °C) 2006
Temp 20 30 40 40 40 35 30 30 25 20 18 15
(in °C) 2007

o Watch Video Solution

6.In a pie chart, the central angles of two components A and B are 108°
and 817, rspectively. Find the difference in the presentages that A forms
of the total value of all components and that B forms of the total value of

all components (in %).

o View Text Solution

Concept Application Level 1

1. If the mean of n observations is 12 and the sum of the observations is

132, then find the value of n.

A.9


https://dl.doubtnut.com/l/_Fg4KSPADFwES
https://dl.doubtnut.com/l/_Vdc1iqu3fcKo
https://dl.doubtnut.com/l/_d3eWLRMsFNRW

B.10

D.12

Answer: C

° Watch Video Solution

2.The range of the data 14, 15, 18, 25, 11,40, 36,30 is

A. 29

B. 27

C.24

D. 26

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_d3eWLRMsFNRW
https://dl.doubtnut.com/l/_8fcb99rUxD54
https://dl.doubtnut.com/l/_DrEIiiDbWVxC

3.The median of 5,7,9,10, 11 is

A7

B.9

D.10

Answer: B

° Watch Video Solution

4.1n a pie chart, the sum of the angles of all its components is

A.90°

B.180°

C.240°

D. 360°


https://dl.doubtnut.com/l/_DrEIiiDbWVxC
https://dl.doubtnut.com/l/_FeYbUIDt41nQ

Answer: D

° Watch Video Solution

5.In a bar graph, the height of a bar is proportional to the

A. width of the bar

B.range of the data

C. value of the component

D. number of observations in the data

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_FeYbUIDt41nQ
https://dl.doubtnut.com/l/_NjELUMZfNSSz
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6.

In which year is the difference between the sales of A and the sales of B

the highest ?

A. 2008

B. 2005

C. 2006

D. 2007

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_9maAIydbRiyR
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7.

Total sales of A and B in the year 2006 is

A. 11,60,000

B. 12,70,000

C. 13,80,000

D. 14,90,000

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_yM0zAEHDf4yp
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8.

Find the minimum difference between the sales of A and sales of B in any
year in the given period.

A. 90000

B. 70000

C. 50000

D. 30000

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_w2bDNRArmVeh
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9.

In which year is the sales of B more than the sales of A ?
A. 2005
B. 2006
C. 2007

D. 2008

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_76ZHoANjFsUN

12 Scale: On-Y-axis, 1 em = 10,0000 units
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2005 2000 2007 2008
Bargraph reprsents the sales of cooldrinks of two
companics A and B from 2005 to 2008

[ 8 Company 4 "1 Company B I

10.
Find the ratio of the total sales in the year 2007 and that in 2008.
A.107: 145
B. 127: 145
C.29:36

D.107:127

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_NHXWseHsSymQ

1. When a dice is thrown, the total number of posible outcomes is
A 6
B.1
C.3

D.4

Answer: A

o Watch Video Solution

12. The arithmetic mean of 13 observations is 60. If one of the observation
50 is deleted and another observation 63 is included. Find the new
arithmetic mean. The following steps are involved in solving the above
problem. Arrange them in sequential order.

(A) New sum of observations = 780 — 50 + 63 = 793

(B) The sum of the observation = 13 x 60 = 780


https://dl.doubtnut.com/l/_Ah9cnoiKHN4d
https://dl.doubtnut.com/l/_bLQ8Zk1Kcgjz

793

(C) ... New arithmetic mean = 3

(D) The required mean = 61

A.BACD

B. BCAD

C.BDCA

D. ABCD

Answer: A

o Watch Video Solution

13. If a dice is rolled, then find the probability of getting a composite
number.

The following steps are involved in solving the above problem. Arrange
them in sequential order.

(A) The possible composite number when a dice is rolled are 4 and 6.
When a dice is rolled, the possible outcomes are 1, 2, 3, 4, 5, 6.

1
(B) The required probability = 3


https://dl.doubtnut.com/l/_bLQ8Zk1Kcgjz
https://dl.doubtnut.com/l/_22E5tjE7ybRQ

(C) The  probability of getting a  composite  number

Number of favourable outcomes

Total number of outcomes

2
6
A. ABC
B. CBA

C.CAB

D. ACB

Answer: D

o Watch Video Solution

14. Match the following Column A to Column B

Column A Column B
The mode of the data 3, 4,9,7,8,9,3,9,8is . (17

The median of the data 15, 13, 12, 17, 20, 24, 11 is (b) 15

The mean of the data 22, 16, 15,23, 13,12, 181 ______ . © 51?

The probability of getting a red card from a well shuffled  (d) 9

pack of cardsis .

e l


https://dl.doubtnut.com/l/_22E5tjE7ybRQ
https://dl.doubtnut.com/l/_JkFihCyfoSnM
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1.In a pie chart, the central angle of a components is 72° and its value is

24.Find the total value of all the components of the data.

A. 240

B. 120

C. 360

D. 420

Answer: B

° Watch Video Solution

2.In a bar graph, the height of a bar is 5 cm and it represents 40 units.

Find the height of a bar representing 56 units (in cm).


https://dl.doubtnut.com/l/_JkFihCyfoSnM
https://dl.doubtnut.com/l/_WTGROH078SAz
https://dl.doubtnut.com/l/_1OAK93OZSVyh

A 11.2

B.5.6

C.7

D.8

Answer: C

o Watch Video Solution

3. In a pictograph, each picture represents 1000 units of certain
production in a ceratin year. There are 4 full pictures and (3/4) the of a
picture in a row. Find the number of units produced in that year.

A. 4340

B. 4750

C.4250

D.4725


https://dl.doubtnut.com/l/_1OAK93OZSVyh
https://dl.doubtnut.com/l/_tVz0tWFy7prw

Answer: B

° Watch Video Solution

4. The mean of a data is 15 and the sum of the observations is 195. Find

the number of observations in the data.

A.13

B.19

D. 17

Answer: A

° Watch Video Solution

5. If the mode of 22, 21, 23, 24, 21, 20, 23, 26, x and 26 is 23, then X is


https://dl.doubtnut.com/l/_tVz0tWFy7prw
https://dl.doubtnut.com/l/_o7aIwoXjSXDk
https://dl.doubtnut.com/l/_okiuKu3TeE4n

A. 20

B. 21

C.23

D. 24

Answer: C

o Watch Video Solution

6. If the range of 10 observations is 15 and its highest scrore is 28, then

the least scrore of the data is

A3

B.13

D.5

Answer: B



https://dl.doubtnut.com/l/_okiuKu3TeE4n
https://dl.doubtnut.com/l/_YEX8UqTWZxm1

| ° Watch Video Solution

7. The mean of the data 15, 20, 20, 16, 22, 17, 23, 18, 24, 25 is

A. 26

B. 22

C.20

D. 18

Answer: C

° Watch Video Solution

8. If an unbiased dice is rolled, then the probability of getting an even

number is then/to that of getting an odd number.

A. More

B. Less


https://dl.doubtnut.com/l/_YEX8UqTWZxm1
https://dl.doubtnut.com/l/_XaT55Ht2peZU
https://dl.doubtnut.com/l/_iYWhfFtS1ueG

C. Equal

D. Cannot say

Answer: C

° Watch Video Solution

9.1n a class of 15 students, the total marks obtained by all the students in

a test is 600. Find the average mark of the class.

A.35
B.30
C.45

D. 40

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_iYWhfFtS1ueG
https://dl.doubtnut.com/l/_eGEpHVtW8JK1
https://dl.doubtnut.com/l/_dNLv9vnzcc4z

10. If the mean of 5,7, %, 10, 5, and 7 is 7, then find the value of x.

A.6

B.7

C.8

D.9

Answer: C

o Watch Video Solution

11. There are 20 students in a class of them, the height of ten students is
150 cm each, the height of 6 students is 142 cm each and the height of 4
students is 132 cm each. Find the average height of all the students.

A. 144

B. 140

C.138


https://dl.doubtnut.com/l/_dNLv9vnzcc4z
https://dl.doubtnut.com/l/_TJpz4m6xqHcy

D. 146

Answer: A

° Watch Video Solution

12. Find the mean weight (in kg) of 50 boys of a class whose total weight

is 1550 kg.

A.30
B.35
C.32

D. 31

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_TJpz4m6xqHcy
https://dl.doubtnut.com/l/_KFjt4kEOFNh1

13. In a pie chart, find the central angle of a component, which is 30% in
the total value of all the components.

A.108°

B.30°

C.70°

D.120°

Answer: A

o Watch Video Solution

14.If the central angle of a component is 72°, then find the percentage of

the value of the component in the total value of all the components.

A.70 %

B.18 %

C.24%


https://dl.doubtnut.com/l/_o7E55Ew9tddj
https://dl.doubtnut.com/l/_kMK05PeuuqKF

D. 20 %

Answer: D

° Watch Video Solution

15. The mean of p, q, and r is same as the mean of q, 2r, and s. then which

of the following is correct ?

Ap=qgq=r
B.g=r=s
Cg=r
Dp=r—+s
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_kMK05PeuuqKF
https://dl.doubtnut.com/l/_amCuu4g28z5k

16. A bar graph is drawn to the scale of 1 cm = 2m units. The length of the

bar representing a quantity of 875 units is 1.75 cm. Find m.

A. 125

B. 225

C. 250

D. 375

Answer: C

o Watch Video Solution

17. In a pie graph, a component is represented as a sector with sector

angle 72°. Find the percentage of the component value in the total.

A 21 %

B.27.5%

C.22.5%


https://dl.doubtnut.com/l/_HtANDAe8QFOs
https://dl.doubtnut.com/l/_kWKzJ3WbIdly

D. 20 %

Answer: D

° Watch Video Solution

18. If the mean of 2, 4, p, 8,and 10 is p, then find the value of p?

A4
B.5
C.8

D.6

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_kWKzJ3WbIdly
https://dl.doubtnut.com/l/_sAKb1hb5oiS4

19. A person contributed his total salary of a month for three social
welfare societis A, B and C. The ratio of total salary, share of A, and share
of B is 20 : 5 : 8. Find the central angle of sector, which represents the

share of C.

10

A T2
72

B.126°
C.105°

10
D. 677

Answer: B

o Watch Video Solution

20. In a pictograph, a picture is represented by 375 units. If the data is
represented by 30 pictures, then find the total numbers of units in the

data.


https://dl.doubtnut.com/l/_i6RGWNdhC9pS
https://dl.doubtnut.com/l/_eRLNPWnsLkRQ

A 125

B. 11250

C.375

D. 12750

Answer: B

o Watch Video Solution

21. The mean weight of 21 students is 21 kg. If a student weighing 21 kg is
removed from the group, then what is the mean weight of the remaining

students ?

A.20 kg
B.21kg
C.19 kg

D.22 kg


https://dl.doubtnut.com/l/_eRLNPWnsLkRQ
https://dl.doubtnut.com/l/_VKQXt2wMDbH2

Answer: B

° Watch Video Solution

22. The mean of 10, 15, 19, 30, 43, 69, and x is x. Find the median of the

data.

A.19

B. 43

C.30

D. None of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_VKQXt2wMDbH2
https://dl.doubtnut.com/l/_FrPe5c1UDQfz

1. In factory, the daily wages (in Rs.) of 12 works are 75, 90 100, 120, 110, 114,
50, 60, 70, 105, 108, and 102. find the number of workers whose daily wage
is less than the mean daily wage.

A5

B.6

C.4

D.7

Answer: A

o Watch Video Solution

2. If the mean of 9, 10, 15, x, 6, 8, and 12 is 11, then the median of the

scores.

A4

B.10


https://dl.doubtnut.com/l/_TBRbCjwtAGMJ
https://dl.doubtnut.com/l/_F6hLRF8RTJYk

C.13

D.5

Answer: B

o Watch Video Solution

3.The mode of the data 9, x, 6, 3,4, 9, 8, 6, 4, 6, is 6. which of the following

cannot be the value of x ?

A.8
B.7
C.6

D.9

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_F6hLRF8RTJYk
https://dl.doubtnut.com/l/_9qfc7VJ33iYP
https://dl.doubtnut.com/l/_UtV0nHl2MyQk

4.The median, mode , and mean of a data is 9, if there are five integers in
the data and the range of the data is 4. If the least value of the data is 7,
then find the number of different observations in the data.

A3

B.4

C.2

D.5

Answer: A

o Watch Video Solution

5. The median of 10, 12, x, 6, 18 is 10. Then which of the following is true

about the value of x ?

Ab6<z <10

B.x <6


https://dl.doubtnut.com/l/_UtV0nHl2MyQk
https://dl.doubtnut.com/l/_M7yIhzQmZ1Tn

Cz > 18

D. Cannot say

Answer: D

o Watch Video Solution

6. The mean of 10 observation is 15. If one observation 15 is added, then

find the new mean.

A. 16

B. 1

D.10

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_M7yIhzQmZ1Tn
https://dl.doubtnut.com/l/_WNZcU7Py21gi
https://dl.doubtnut.com/l/_l3EwIu0xgsRF

7. The range of the data 15, 18, 17, 16, 14, x, 12, 10, 9, 15 is 9. Which of the

following is true about x ?

Ax > 18

B.x <9

C9<z <18

D.9 <z <18

Answer: C

o Watch Video Solution

8.The range of a data is x, the median and the mode of the data is 7 each.
If the number of observations is odd and all observations are integers,
then find the least value of x (tange # 0)

Al

B.2


https://dl.doubtnut.com/l/_l3EwIu0xgsRF
https://dl.doubtnut.com/l/_kgcL6Lrz65Au

C.3

D.4

Answer: A

° Watch Video Solution

9. For a pie chart, a studen t calculates the central angle of a component
as 72° by taking the total value as 220 instead of 240. Find the correct
central angle of the component.

A.60°

B.66°

C.74°

D.80°

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_kgcL6Lrz65Au
https://dl.doubtnut.com/l/_crzblaETdjyV

10.In a bar graph, length of a bar is 6.4 cm and it represents 256 units.
Find the number of units represented by a bar of length 5.3 cm.

A. 228

B. 196

C. 212

D. 224

Answer: C

o Watch Video Solution

11. A bag contains 4 green balls, 4 red balls, and 2 blue bals. If a ball is
drawn form the bag,then what is the probability of getting neither green

not red ball ?

A.2/5


https://dl.doubtnut.com/l/_crzblaETdjyV
https://dl.doubtnut.com/l/_dKONK2Vv69Su
https://dl.doubtnut.com/l/_FMD6IyaiNFqN

B.1/2
Cc.4/5

D.1/5

Answer: D

° Watch Video Solution

Test Your Concepts Very Short Answer Type Questions

1. Directions for questions : Fill in the blanks

If the range of a data is 26 and its highest value is 37, then its least value

° Watch Video Solution

2. Directions for questions : State whether the following statements are

true or false.


https://dl.doubtnut.com/l/_FMD6IyaiNFqN
https://dl.doubtnut.com/l/_4q7lwfXL3AJw
https://dl.doubtnut.com/l/_VbrXCpN5JYZ8

The mean of the observations 9, 7,11,13, 2,4, 5,5 is 7.

° Watch Video Solution

3. Directions for questions : State whether the following statements are
true or false.

The median of the data 47, 41, 52, 43, 56, 35, 49, 55,42 is 47.

° Watch Video Solution

4.the mode of the data 8,4,5,3,6,7,7,8,4,6,8,9and 9is___ .

° Watch Video Solution

5. Directions for questions : State whether the following statements are
true or false.

For an unbiased dice, the probability of getting 4 is 1/6.

° Watch Video Solution



https://dl.doubtnut.com/l/_VbrXCpN5JYZ8
https://dl.doubtnut.com/l/_LUuF0ab9fmCF
https://dl.doubtnut.com/l/_XpOoYnCcWQIg
https://dl.doubtnut.com/l/_ILgQRUu7UTnv

6. Directions for questions : Fill in the blanks.

The mean of 41, 25,15,42,and 5 is

° Watch Video Solution

7.1n a pie chart, the central angle for a component value of 240, when the

total value is 720, is _

° Watch Video Solution

8.In a bar graph, the height of a bar is 5.2 cm. If 1 cm=80 units, then the

value represented by the bar is units.

° Watch Video Solution



https://dl.doubtnut.com/l/_ILgQRUu7UTnv
https://dl.doubtnut.com/l/_fnq2RdFEFbZk
https://dl.doubtnut.com/l/_ksmAE9SvMPVd
https://dl.doubtnut.com/l/_qulcrkiE4aDk

9. Directions for questions : Fill in the blanks.

The range of the data 108, 107, 105, 106, 107, 104, 103, 101, 104 is

° Watch Video Solution

10. Directions for questions : Fill in the blanks.

If the sum of 6 observations is 72, then their mean is

° Watch Video Solution

11. Directions for questions : Fill in the blanks.
In a pictograph, if 1 picture = 25 boys, then 175 boys are represented by

pictures.

° Watch Video Solution



https://dl.doubtnut.com/l/_TruLtYbP1JfZ
https://dl.doubtnut.com/l/_eDEPhgyCy73y
https://dl.doubtnut.com/l/_98AKs4rBVs6s

12. Directions for questions : Fill in the blanks.

The median of the data 27, 39, 49, 20, 21, 28,38 is

° Watch Video Solution

13. Directions for questions : Fill in the blanks.

If a dice is rolled, then the probability of getting a multiple of 2 is

° Watch Video Solution

14. Directions for questions : Fill in the blanks.

When a dice is rolled, the probability of getting a natural numberis

° Watch Video Solution



https://dl.doubtnut.com/l/_2nBzHxQ2ybX8
https://dl.doubtnut.com/l/_QldXDMk66Nsc
https://dl.doubtnut.com/l/_u56zWkguXXbS

15. Directions for questions : Fill in the blanks.

The minimum value of the probability of an event is

° Watch Video Solution

16. Directions for questions : Fill in the blanks.

When a card is picked from a deck, the probability of getting a face card is

° Watch Video Solution

17. The middle value of a data, when it is arranged in ascending or

descending, is called

° Watch Video Solution



https://dl.doubtnut.com/l/_U7bjiBa9cGNI
https://dl.doubtnut.com/l/_CbQ0SKExnMyN
https://dl.doubtnut.com/l/_eJHq1liFG7NV

18. Directions for questions : Fill in the blanks.

The definition of frequency of an observation is

o Watch Video Solution

19. Equally Likely Events

o Watch Video Solution

20. Directions for questions : Fill in the blanks.

If a dice is thrown, then the probability of getting a 7 is

o Watch Video Solution

21.The mode of a data is

o Watch Video Solution



https://dl.doubtnut.com/l/_IEBehb6aDO6h
https://dl.doubtnut.com/l/_fOcglNbrSCRe
https://dl.doubtnut.com/l/_cEanjVxxaa4E
https://dl.doubtnut.com/l/_x8mop6zzEwyj
https://dl.doubtnut.com/l/_6TlgOAmQuOgL

22.The central angle of a component in a pie chart is

° Watch Video Solution

23. Directions for questions : Fill in the blanks.

The graphs drawn for representing a data using pictures is

° Watch Video Solution

24. Directions for questions : Fill in the blanks.

When two coins are tossed, the outcomes are

° Watch Video Solution

25. Directions for questions : These questions are based on the following

data. Read the following bar graph and answer the following.


https://dl.doubtnut.com/l/_6TlgOAmQuOgL
https://dl.doubtnut.com/l/_BHh1Bbr2Dc8N
https://dl.doubtnut.com/l/_Q8VwcBaxpNK3
https://dl.doubtnut.com/l/_V8cUR7PokGSO
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In which year is the difference between the sales of the scooters and the

sales of cars the least?

A. 2005

B. 2006

C. 2007

D. 2008

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_V8cUR7PokGSO

26. Directions for questions : These questions are based on the following

data. Read the following bar graph and answer the following.

Seale: O Y-z, | om = 1006 g
11 .
™ 10
q - 8.1 B2
L] 7.3
7 b5 s
L e o
5 -
Fi
34
J -
[ 4
i - - -\
Y MMy i 7 ey
.- lfs'cu.mt:n_ B _l"..ln |

Total number of vehicles (scooters and cars) sold in the years 2005 and

2006 is

A. 26,100
B. 28, 500
C. 25,100

D. 27,500

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_T1do3oAjuutk

27. Directions for questions : These questions are based on the following

data. Read the following bar graph and answer the following.
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Find the maximum difference between sales of scooters and that of cars,

in any year, in the given period.

A.1500

B. 1700

C. 1800

D. 2000

Answer: C

e |


https://dl.doubtnut.com/l/_T1do3oAjuutk
https://dl.doubtnut.com/l/_xPXpNBdurIKT

| @ \Wwatch vVideo Solution ]

28. Directions for questions : These questions are based on the following

data. Read the following bar graph and answer the following.

Scale: O Yoanos, | om = 1000 s
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Find the total number of scooters sold in the four years.

A. 26000
B. 27000
C. 31000

D. 32000



https://dl.doubtnut.com/l/_xPXpNBdurIKT
https://dl.doubtnut.com/l/_jAdg8tGEqeOT

| % Vvaldn vVIAco 501utior ]

29. Directions for questions : These questions are based on the following

data. Read the following bar graph and answer the following.
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Find the ratio between the total number of vehicles sold (scooters and

cars) in the year 2006 and that in the year 2008.

A.41:46
B.69:91
C.147:182

D. 46: 49

Answer: B


https://dl.doubtnut.com/l/_jAdg8tGEqeOT
https://dl.doubtnut.com/l/_dD0vDeqCVJNI

° Watch Video Solution

30. There are 10 cards numbered from 1to 10 in a box. If a card is drawn

randomly, then find the probability of getting a prime numbered card.

° Watch Video Solution

31. The mode of the data 48, 45, 49, 51, 46, 48, 47,49, 48, and 51 is

A. 47
B. 49
C.51

D. 48

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_dD0vDeqCVJNI
https://dl.doubtnut.com/l/_QNNXQbHUiPHQ
https://dl.doubtnut.com/l/_P2Xykgv8enWk
https://dl.doubtnut.com/l/_3VQc0HRpjeuv

32. When a dice is rolled, find the probability of getting 4.

oot N~k W=k o=

Answer: A

o Watch Video Solution

33.The range of 12 observations is 60. If the least observation is 90, then

find the greatest observation.

A.130
B. 140
C.150

D. 160



https://dl.doubtnut.com/l/_3VQc0HRpjeuv
https://dl.doubtnut.com/l/_IzmGHqEJMxhp

Answer: C

° Watch Video Solution

34.Find the median of the data 35, 28, 49, 56, 79, 81, 73 and 80.

A 64.5

B. 65

C.65.5

D. 66

Answer: A

° Watch Video Solution

35. There are 20 marbles in a box which are marked with distinct numbers
from 1 to 20. If a marble is drawn, then find the probability that the

marble being numbered as a multiple of 4.


https://dl.doubtnut.com/l/_IzmGHqEJMxhp
https://dl.doubtnut.com/l/_ktdvqJKkuDXA
https://dl.doubtnut.com/l/_KKhZdqZsN9i3

A.3/5
B.2/5
Cc.1/4

D.4/5

Answer: C

o Watch Video Solution

36. The mode of the data 35, 25, 26, 33, 31, x, and 30 is 26, then x is

A. 25

B. 26

C.31

D.33

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_KKhZdqZsN9i3
https://dl.doubtnut.com/l/_eLliRuQgkSfp

37.The median of the data 18,42, 31, 25,26,38and 43 is .

A 31
B. 26
C.25

D. 18

Answer: A

° Watch Video Solution

38.The sum of 200 observations is 14000, then the meanis .

A. 150
B. 120

C.70


https://dl.doubtnut.com/l/_eLliRuQgkSfp
https://dl.doubtnut.com/l/_CQQCf86Pph7h
https://dl.doubtnut.com/l/_g15O1NvxNtrr

D. 60

Answer: C

° Watch Video Solution

39. There are 100 cards numbered from 1to 100 in a box. If a card is drawn
from the box and the probability of an event is 1/2, then the number of

favourable cases to the event is

A. 20

B. 25

C.40

D. 50

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_g15O1NvxNtrr
https://dl.doubtnut.com/l/_Ht5pFWl3Occv

Test Your Concepts Short Answer Type Questions

1. Find the mean of 11, 15, 17, 6, and 21.

° Watch Video Solution

2.Find the median of the data 9, 4,2,11,9,3,12,1,6.

° Watch Video Solution

3. Find the mode of the data 7, 8,9, 9,10, 7,11, 10, 7, 6.

o Watch Video Solution

4. Find the range of the data: 535, 155, 305, 720, 315, and 214

o Watch Video Solution



https://dl.doubtnut.com/l/_ghlAEJfAil8f
https://dl.doubtnut.com/l/_qVzSyym90R1P
https://dl.doubtnut.com/l/_RBFkmwvr5LJp
https://dl.doubtnut.com/l/_5b0i7JkqNHGY
https://dl.doubtnut.com/l/_Zp5kLXRbmtIH

5. When two coins are flipped once, what is the probability of getting

head-tail ?

o Watch Video Solution

6. What is a pie chart ?

o Watch Video Solution

7.The marks obtained by 15 students in an examination are given below :
40, 20, 24, 19,20, 35, 12, 48, 29, 40, 45, 48, 42, 23, 35. Find the average mark

of the students.

o Watch Video Solution

8. The heights of 7 students are given below (in cm) : 120, 126, 132.41,

121.52,120.35, 132, 125. Find the median height of the students.

| o Watch Video Solution


https://dl.doubtnut.com/l/_Zp5kLXRbmtIH
https://dl.doubtnut.com/l/_WW0ljUZQcmM9
https://dl.doubtnut.com/l/_6bTuyjPFK9xu
https://dl.doubtnut.com/l/_KLwZJ6hcXMvK

9. The mode of the data 20, 23, 22, 23, 22, 20, x, 21 is 22. Find the value of x.

° Watch Video Solution

10. The arithmetic mean of 10 observations is 45. If one of the
obsservations, 54, is deleted, then find the mean of the remaining

observations.

° Watch Video Solution

11.If the mean of 4, x,and y is 6, then find the mean of x, y, and 10.

o Watch Video Solution

12. A bar graph is drawn to the scale 1 cm = 4x units .The length of the bar

represeting a quantity 1000 units is 1.25 cm . Find x



https://dl.doubtnut.com/l/_KLwZJ6hcXMvK
https://dl.doubtnut.com/l/_iGBA00VBtrI5
https://dl.doubtnut.com/l/_S5uInftc0nvn
https://dl.doubtnut.com/l/_D0bpozK7Wli0
https://dl.doubtnut.com/l/_xN2dqZG0P3Ci

I ° Watch Video Solution

13. In a pie chart, a component is represented as a sector with sector

angle 108°, then find the percentage of the value the component totally.

° Watch Video Solution

14. If the mean of 2,3, x,7 ,8 is x, then find the value of x.

° Watch Video Solution

15. Anand's income and expenditure are in the ratio 9: 5. Find the central

angle of the sector, which represents Anand's savings.

o Watch Video Solution



https://dl.doubtnut.com/l/_xN2dqZG0P3Ci
https://dl.doubtnut.com/l/_I5MGuxg03uAa
https://dl.doubtnut.com/l/_7ppWJZP4iXO5
https://dl.doubtnut.com/l/_LNMdKPxikVVu

16.In a bar graph, a bar of length 8.6 cm is represented by 430 units. Find

the length of another bar, which is represented by 340 units.

° Watch Video Solution

17. Find the mode of the data 2, 4,6, 4,6, 7,6, 7, aud 8

° Watch Video Solution

18. The mean height of a group of 30 students is 150 cm. If a 150 cm tall

student is included in the group, then find the mean heigh of the new

group.

° Watch Video Solution

19. The mean of observations 2, 3, 4, 5, 8, 14, and x is x. Find x.

° Watch Video Solution



https://dl.doubtnut.com/l/_TsruMWvKdpHc
https://dl.doubtnut.com/l/_ViTZf1XqQFOz
https://dl.doubtnut.com/l/_yRIFLuHCMcEQ
https://dl.doubtnut.com/l/_FrbgXjGEXzd0

20. In a box, there are 20 marbles. Each marble is marked with a distinct
number from 1 to 20. Find the probability of drawing a marble from the

box which is marked with a number that is a prime number.

° Watch Video Solution

21. Find the mean of the data 42,20,24,31,30 and 57.

° Watch Video Solution

Test Your Concepts Essay Type Questions

1. For the information given in the above question, find the heights of the
bars, when the data represented in a bar graph: Scale of the graph: 1cm =

Rs 500.

° View Text Solution



https://dl.doubtnut.com/l/_FrbgXjGEXzd0
https://dl.doubtnut.com/l/_VT4Pjml9zMi7
https://dl.doubtnut.com/l/_QoOGIOq27i6M
https://dl.doubtnut.com/l/_PkjlPPAC3rY5

2. The following table gives the average temperatures, during the year

2006 and 2007. Draw a double bar graph for the given data.

Month Jan Feb Mar Apr Moy Jun July Aug Sep Oct Nov Dec
Temp 20 32 36 38 42 35 32 30 28 25 20 15
(in °C) 2006

Temp 20 30 40 40 40 35 30 30 25 20 18 15
(in °C) 2007

° Watch Video Solution

3.In a pie chart, the central angles of two components A and B are 108°
and 81°, respectively. Find the difference in the percentages that A forms
of the total value of all components and that B forms of the total value of

all components (in %).

o View Text Solution

Concept Application Level 1



https://dl.doubtnut.com/l/_GCVIxUnWGmjt
https://dl.doubtnut.com/l/_0OGTam1ReDfQ

1. Directions for questions : State whether true or false given options.

The mean of 11 observations is 12 and the sum of the observations is 132.

° Watch Video Solution

2.The range of the data 14, 15, 18, 25, 11, 40, 36, 30 is

A. 29

B. 27

C. 24

D. 26

Answer: A

° Watch Video Solution

3.The median of 5,7,9,10, 11 is


https://dl.doubtnut.com/l/_7QN6mbEzYsby
https://dl.doubtnut.com/l/_7cAXyxSX2GI2
https://dl.doubtnut.com/l/_C0sGc6BMMvYV

A7

B.9

D.10

Answer: B

o Watch Video Solution

4.1n a pie chart, the sum of the angles of all its components is

A.90°

B.180°

C.240°

D. 360°

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_C0sGc6BMMvYV
https://dl.doubtnut.com/l/_bVCnO7Tkfe20

5.In a bar graph, the height of a bar is proportional to the

A. width of the bar
B. range of the data
C. value of the component

D. number of observations in the data

Answer: C

o Watch Video Solution

6. Directions for questions : These questions are based on the following

data. Read the following bar graph and answer the questions.


https://dl.doubtnut.com/l/_bVCnO7Tkfe20
https://dl.doubtnut.com/l/_0Ynhz7Yny9oJ
https://dl.doubtnut.com/l/_Q4s2gpIst8QZ
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Hargraph repricnt the sales of cooldrmls of two
companies A4 and # from 205 1o 2008

l 8 Company A Company B

In year 2007 what is the difference between the sales of A and the sales
of B?

A. 70,000

B. 72,000

C. 69,400

D. 77,540

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Q4s2gpIst8QZ

7. Directions for questions : These questions are based on the following

data. Read the following bar graph and answer the questions.
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Bargraph repracnts the sales of cooldrmls of two
comparnies 4 and A from NS po N8

mlumpmy 4 _{-nr-np;m Bl

Total sales of A and B in the year 2006 is

A. 11,60,000
B. 12,70,000
C. 13,80,000

D. 14,90,000

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_iWsrJ63xQLby

8. Directions for questions : These questions are based on the following

data. Read the following bar graph and answer the questions.

12 Seale: On-Yoamas, 1 om = 100000 wrts
{L1] 7
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Bargraph repracnts the sales of cooldrmls of two
compantes A and  # trom 2005 10 2008

|_I[ omipany '1- Company B .I

Find the maximum difference between the sales of A and sales of B in any
year in the given period.

A.170000

B. 140000

C. 50000

D. 300000

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_0eJddO9KPpUs

9. Directions for questions : These questions are based on the following

data. Read the following bar graph and answer the questions.

12 Seale: Odn-Yomae, 1 om = 10 0000 wrts
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Hargraph repricnt the sales of cooldrmls of two
comparnies 4 ard  H trowen VS po HWS

mlumpmy 4 _{-nr-np;m Bl

In which year is the sales of B more than the sales of A?

A. 2005
B. 2006
C. 2007

D. 2008

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_0eJddO9KPpUs
https://dl.doubtnut.com/l/_pK1nDI4GKPyh

10. Directions for questions : These questions are based on the following

data. Read the following bar graph and answer the questions.

2 Seale: On-Yoman, 1 cm = [0 (0O0NF ks
1 w7
H [ 5] 55
I l
¥
]
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H.irh.r-lph e i thic sales of cooldrmls of two
compantes A and A from 20005 o 208

mlumpmy 1 C nm}um H |

Find the ratio of the total sales in the year 2007 and that in 2008.

A.107:145
B.127:145
C.29: 36

D.107:127

Answer: C

| ° Watch Video Solution


https://dl.doubtnut.com/l/_pK1nDI4GKPyh
https://dl.doubtnut.com/l/_x2lPVct5FuML

11. When a dice is thrown, the total number of posible outcomes is
A.6
B.1
C.3

D.4

Answer: A

o Watch Video Solution

12. The arithmetic mean of 13 observations is 60. If one of the observation
50 is deleted and another observation 63 is included. Find the new
arithmetic mean. The following steps are involved in solving the above
problem. Arrange them in sequential order.

(A) New sum of observations = 780 — 50 + 63 = 793


https://dl.doubtnut.com/l/_x2lPVct5FuML
https://dl.doubtnut.com/l/_q4lDKsASl9Nu
https://dl.doubtnut.com/l/_yskprcyxXs0k

(B) The sum of the observation = 13 x 60 = 780

793

(C) ... New arithmetic mean = 3

(D) The required mean = 61

A.BACD

B. BCAD

C.BDCA

D. ABCD

Answer: A

o Watch Video Solution

13. If a dice is rolled, then find the probability of getting a composite
number.

The following steps are involved in solving the above problem. Arrange
them in sequential order.

(A) The possible composite number when a dice is rolled are 4 and 6.

When a dice is rolled, the possible outcomes are 1, 2, 3, 4, 5, 6.


https://dl.doubtnut.com/l/_yskprcyxXs0k
https://dl.doubtnut.com/l/_gn6wNNAd7Dgw

1
(B) The required probability = 3

(C) The probability of getting a  composite  number

Number of favourable outcomes

Total number of outcomes

2
6
A. ABC
B. CBA

C.CAB

D. ACB

Answer: D

o Watch Video Solution

Concept Application Level 2

1.In a pie chart, the central angle of a components is 72° and its value is

24.Find the total value of all the components of the data.

A. 240


https://dl.doubtnut.com/l/_gn6wNNAd7Dgw
https://dl.doubtnut.com/l/_8Gas4XK6rOnI

B. 120

C. 360

D. 420

Answer: B

° Watch Video Solution

2.1n a bar graph, the height of a bar is 5 cm and it represents 40 units.

Find the height of a bar representing 56 units (in cm).

A 11.2

B.5.6

C.7

D.8

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_8Gas4XK6rOnI
https://dl.doubtnut.com/l/_89mV8A0blsaQ

3. In a pictograph, each picture represents 1000 units of certain
production in a ceratin year. There are 4 full pictures and (3/4) the of a
picture in a row. Find the number of units produced in that year.

A. 4340

B. 4750

C. 4250

D. 4725

Answer: B

o Watch Video Solution

4. The mean of a data is 15 and the sum of the observations is 195. Find

the number of observations in the data.

A.13


https://dl.doubtnut.com/l/_89mV8A0blsaQ
https://dl.doubtnut.com/l/_pIAyWFdcfvtL
https://dl.doubtnut.com/l/_zMnlTv9X3LFT

B.19

D.17

Answer: A

° Watch Video Solution

5. If the mode of 22, 21, 23, 24, 21, 20, 23, 26, x and 26 is 23, then X is

A. 20

B. 21

C.23

D.24

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_zMnlTv9X3LFT
https://dl.doubtnut.com/l/_m778HkT02iEG

6. If the range of 10 observations is 15 and its highest scrore is 28, then

the least scrore of the data is

A3

B.13

D.5

Answer: B

o Watch Video Solution

7. The mean of the data 15, 20, 20, 16, 22, 17, 23, 18, 24, 25 is

A. 26

B. 22

C.20


https://dl.doubtnut.com/l/_m778HkT02iEG
https://dl.doubtnut.com/l/_fiRIKJxU4A57
https://dl.doubtnut.com/l/_pgSAgGHu8oRS

D.18

Answer: C

° Watch Video Solution

8. If an unbiased dice is rolled, then the probability of getting an even

number is then/to that of getting an odd number.

A. More

B. Less

C. Equal

D. Cannot say

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_pgSAgGHu8oRS
https://dl.doubtnut.com/l/_g5TDl8aDsZ3q

9.1n a class of 15 students, the total marks obtained by all the students in
a test is 600. Find the average mark of the class.

A.35

B.30

C.45

D. 40

Answer: D

o Watch Video Solution

10. If the mean of 5, 7, x, 10, 5, and 7 is 7, then find the value of x.

A.6

B.7

C.8

D.9


https://dl.doubtnut.com/l/_w2HKliB5ozKd
https://dl.doubtnut.com/l/_qlI8waACEBU8

Answer: C

° Watch Video Solution

11. There are 20 students in a class of them, the height of ten students is

150 cm each, the height of 6 students is 142 cm each and the height of 4

students is 132 cm each. Find the average height of all the students.

A. 144

B. 140

C.138

D. 146

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_qlI8waACEBU8
https://dl.doubtnut.com/l/_qNxJJup8rbRu

12. Find the mean weight (in kg) of 50 boys of a class whose total weight

is 1550 kg.

A.30
B.35
C.32

D. 31

Answer: D

o Watch Video Solution

13. In a pie chart, find the central angle of a component, which is 30% in

the total value of all the components.

A.108°
B.30°

C.70°


https://dl.doubtnut.com/l/_0BCyAvUVgmdF
https://dl.doubtnut.com/l/_mx0dvGb95Jbx

D.120°

Answer: A

° Watch Video Solution

14.If the central angle of a component is 72°, then find the percentage of

the value of the component in the total value of all the components.

A.70 %
B.18 %
C.24%

D.20 %

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_mx0dvGb95Jbx
https://dl.doubtnut.com/l/_Cj8joqoNkVm0

15. The mean of p, q, and r is same as the mean of q, 2r, and s. then which

of the following is correct ?

Ap=qg=r
B.g=r=s
Cg=r
Dp=r-+s
Answer: D

o Watch Video Solution

16. A bar graph is drawn to the scale of 1 cm = 2m units. The length of the

bar representing a quantity of 875 units is 1.75 cm. Find m.

A.125

B. 225

C. 250


https://dl.doubtnut.com/l/_ENeX3qJPME9D
https://dl.doubtnut.com/l/_nAF5jRlp1z9Z

D. 375

Answer: C

° Watch Video Solution

17. In a pie graph, a component is represented as a sector with sector

angle 72°. Find the percentage of the component value in the total.

A. 0.21

B.27.5%

C.22.5%

D.20 %

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_nAF5jRlp1z9Z
https://dl.doubtnut.com/l/_llefiko4hqWV

18. If the mean of 2, 4, p, 8, and 10 is p, then find the value of p?

A 4

B.5

C.8

D.6

Answer: D

o Watch Video Solution

19. A person contributed his total salary of a month for three social
welfare societis A, B and C. The ratio of total salary, share of A, and share
of B is 20 : 5 : 8. Find the central angle of sector, which represents the

share of C.

10
A 727

B.126°


https://dl.doubtnut.com/l/_8mjNxKIVFUUa
https://dl.doubtnut.com/l/_qN7T8vEj0juI

C.105°

10

D. 67 5

Answer: B

° Watch Video Solution

20. In a pictograph, a picture is represented by 375 units. If the data is
represented by 30 pictures, then find the total numbers of units in the
data.

A. 125

B. 11250

C.375

D. 12750

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_qN7T8vEj0juI
https://dl.doubtnut.com/l/_xH9q9CTDm1Jy

21. The mean weight of 21 students is 21 kg. If a student weighing 21 kg is

removed from the group, then what is the mean weight of the remaining

students ?

A.20 kg
B.21kg
C.19kg

D.22 kg

Answer: B

o Watch Video Solution

22. The mean of 10, 15, 19, 30, 43, 69, and x is x. Find the median of the

data.

A.19


https://dl.doubtnut.com/l/_xH9q9CTDm1Jy
https://dl.doubtnut.com/l/_3qfXSsGbaDsR
https://dl.doubtnut.com/l/_2aOCSQ0fj1CK

B. 43

C.30

D. None of these

Answer: C

° Watch Video Solution

Concept Application Level 3

1. In factory, the daily wages (in Rs.) of 12 works are 75, 90 100, 120, 110, 114,

50, 60, 70, 105, 108, and 102. find the number of workers whose daily wage

is less than the mean daily wage.

A5

B.6

C.4

D.7


https://dl.doubtnut.com/l/_2aOCSQ0fj1CK
https://dl.doubtnut.com/l/_TvjXCVCMpfwI

Answer: A

° Watch Video Solution

2. If the mean of 9, 10, 15, x, 6, 8, and 12 is 11, then the median of the

scores.

A4

B.10

D.5

Answer: B

° Watch Video Solution

3.The mode of the data 9, x, 6, 3, 4, 9, 8, 6, 4, 6, is 6. which of the following

cannot be the value of x ?


https://dl.doubtnut.com/l/_TvjXCVCMpfwI
https://dl.doubtnut.com/l/_XIyzgE1UzkRf
https://dl.doubtnut.com/l/_JYqeahwPnSb0

A 8

B.7

C.6

D.9

Answer: D

o Watch Video Solution

4.The median, mode , and mean of a data is 9, if there are five integers in

the data and the range of the data is 4. If the least value of the data is 7,

then find the number of different observations in the data.

A3

B.4

C.2

D.5


https://dl.doubtnut.com/l/_JYqeahwPnSb0
https://dl.doubtnut.com/l/_ig1pW3tDgLXv

Answer: A

° Watch Video Solution

5. The median of 10, 12, x, 6, 18 is 10. Then which of the following is true

about the value of x ?

A6<z<10

B.x <6

Cz > 18

D. Cannot say

Answer: D

° Watch Video Solution

6. The mean of 10 observation is 15. If one observation 15 is added, then

find the new mean.


https://dl.doubtnut.com/l/_ig1pW3tDgLXv
https://dl.doubtnut.com/l/_TCIA4hxkqdXd
https://dl.doubtnut.com/l/_mRRiFCWLyqi1

A. 16

B. 1

D.10

Answer: C

o Watch Video Solution

7. The range of the data 15, 18, 17, 16, 14, x, 12, 10, 9, 15 is 9. Which of the

following is true about x ?

Az > 18

Bz <9



https://dl.doubtnut.com/l/_mRRiFCWLyqi1
https://dl.doubtnut.com/l/_Zjl8zFXNHa6o

| o Watch Video Solution

8.The range of a data is x, the median and the mode of the data is 7 each.
If the number of observations is odd and all observations are integers,
then find the least value of x (tange # 0)

Al

B.2

C.3

D.4

Answer: A

o Watch Video Solution

9. For a pie chart, a studen t calculates the central angle of a component
as 72° by taking the total value as 220 instead of 240. Find the correct

central angle of the component.


https://dl.doubtnut.com/l/_Zjl8zFXNHa6o
https://dl.doubtnut.com/l/_FukdULSexJWj
https://dl.doubtnut.com/l/_paOLly3kPoeB

A.60°

B.66°

C.74°

D.80°

Answer: B

o Watch Video Solution

10. In a bar graph, length of a bar is 6.4 cm and it represents 256 units.

Find the number of units represented by a bar of length 5.3 cm.

A. 228

B. 196

C. 212

D. 224

Answer: C



https://dl.doubtnut.com/l/_paOLly3kPoeB
https://dl.doubtnut.com/l/_V05e9wC5ofAO

| ° Watch Video Solution

11. A bag contains 4 green balls, 4 red balls, and 2 blue bals. If a ball is
drawn form the bag,then what is the probability of getting neither green
not red ball ?

A.2/5

B.1/2

c.4/5

D.1/5

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_V05e9wC5ofAO
https://dl.doubtnut.com/l/_UW21J2TeEBZQ

